"~ JKChrome

JK Chrome | Employment Portal

() Rated No.1 Job Application

of India &
Sarkari Naukri [
Private Jobs i ) [m—
Employment News Aboit Hilsapp
SAUE IS R oo e e
Notifications

News & Magazines

Rate this app
Tell ers what you t

ith hink

STUDY
MATERIAL

GET IT ON

» Google play

JK Chrome ) CIiCK here tO
Q 47/ DOWNLOAD

J

CHR jk chrome

www.jkchrome.com | Email : contact@jkchrome.com



https://play.google.com/store/apps/details?id=com.gbt.it.jobportal

Jistance of the centre of pressure from free p

A = Total area of the surface

h = Distance of G.Gof the area from the freé
liquid

p = Densityotliquid}

surface of

I
py d= —+/
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D) Q = 5663 VP

In the design of canals, the ratio of rate of cha

discharge in the outlet to the rate of change of water

in the distributary channel is termed as:

A) Drowning ratio
B) Efficiency

C) Setting

D) Sensitivity

—_—‘_—___—’—_

§) What are the indicalors used for measuring acidity in

general? .
A) Methyl orange and phenolphthalein

B) Potash alum and bakind 098
C) Ammonium sulphate and sulphuric

D) Magnesium dioxide and nitrous oxide
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O 1)/ Identify the CORRECT statement/s

(e
SV

1.4
(e ““: 2)\The following are th

A = Total area of the surface
h=
Distance of ¢,G of the area from the free surface of

liquid
p= Dmltyd*;d) |
R\
AHd= "6 -
Rar T P

70C
il M

Venturimeter device.

a) It works on Bemouli's principle.
b) Ratio of throat diameter “f)O 2 and 0.75.
Venturimeter lies in the range 0 e measurement.
¢) It is usually suitable for Flow rate

A) aonly

B) c only )ﬁ
C)aandc :
D) Alla,bandc

regardingd

: ain pipe diameter in a

e consistency limits availal:’le for :hie
imil ic limit= low index = 11,

il Liquid limit = 35%, Plastic hmrt"jS‘)ﬁ. F '
;Z':&Lgr:?er’vPSZ%. Find the Plasticity index, Consistency

index and Toughness index respectively.

A) 22, 0.16,2
B) 20, 0.15, 1.8
C) 25,0.12,2
D) 20,0.13, 1.9

3) On a vertical plane surface submerged in liquid, the
distance (d) of the centre of pressure from free surface of
liquid is given by which formula among the following

options?

( Given: d = Distance of the centre of pressure from free
surface of liquid

I = Moment of Inertia of area about an axis passin
9
mm C.G of the area and parallel to the free surface

p 4= |
the faaz':mfocommunity. The

nd (Q) in

4) Fire d

Kuchling's |
litres per min

(Here
(Symbols and nota

c) Q=3182 VP
D) Q = 5663 VP

f
emand is oné o
tity of water required in a cé
e formula for estima
ute is given by

A) Q= 1136.5 (P/5 +10)
B) Q = 2500 (P/5 +10)

www._jkchrome.com

ting the fire dema

p= Population in thousands)

tions carry their usual meaning)

@ In the design of canals, the ratio of rate of
Y) discharge in the outlet to the rate of change of

in the distributary channel is termed as:
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i T with
the following statements is INCORREC
l‘ / @;:s)p\z:% t(t’:e calculation of LST (Latest Start Time) for the ’
| iviti in a network diagram? WY
activities involved i ¢ i
ST is equal to Zero
ST starts from end event
done through backward pass

A) At the end event L
B) The calculation of L
C) The computations are

method & it
D) The computations of LST usually proceeds right to le

be the true bearing of a line AB, i_f its
30' E and the declination is 7°

g

25) What will
magnetic bearing is S 28°
30" West?

A) N 36°00'E '

B) S26°00'E

C)S56°00'E

D) S36°00'E %

26)
b,

f

Find the degree of static indeterminacy, for a two
dimensional truss (or frame) shown in the figure above.

A) 1 A T
8)2 M’_r)%k",
C)3 l‘k%
D) 4 whET

The efficiency of @ sedimentation tank (in percentage)
Ougc);alculated using which of the following formulas?

¥
'

ocity x Overflow velocity) x 100
ocity / Overflow velocity) x 100

———

A) (Settling vel

www_jkchrome.com

Settling vel
cB;; :Settling velocity - Overflow veldcet? ¥ 110(;.0 2)) 3\::?:::':%
D) (Settling velocity * Qverflow velocity) X D) Amount of water

" g
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28) A 50 cc of water passed through empty dry filter paper
whose initial weight is 1.46 ¢ and after oven drying the
weight is 1.42 g. What will be the suspended solids?

W
o

A) 500 mg/l R >, "
B) 400 mg/! WG A W

C) 800 mg/l w¥”

D) 600 mg/l

29) As per 1S:456-2000, a simply supported beam shall be
considered as a deep beam if the ratio of its effective span

to overall depth is less than

A) 1.5
B) 2
C) 25
D)3

30) Which path of the network analysis usually has zero

slack time?

A) Critical path

B) Non critical path

C) Both critical and non-critical paths
D) Dummy Path

31) With reference to Planning, identify the CORRECT
statements.

1. Dummy activity maintains the logical interrelationship
between different activities.

2. Dummy activity keeps the numbering system
network-unique. " b o

3. Dummy activity is a resource oriented activity.

A) 1and 2
B) 2and 3
C)1,2and 3
D)1and 3

32) What is (total annual a
community) / (population * 365)?

A) Percapita water demand

“Page 50f 16
\
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B
i rks, the wg;
ign of cross drainage works, . v
33) What wi be the sensitivity of sojl specimen if 38) Fo(;r;?:ig?e tge {168 UbthgLaays equation g
UnCOnﬁne Compressive strength in undisturbed mode is of the' B s wen"ﬂ pederimeter IS i o
9 and op remoulding the unconfined compressive (Here: ed
strength is 66 g?

discharge in cumecs.)
A) {"“ "“ ¥ (Symbols and notations carry their usual r
2.82 € £
B) 5.93 -&% B e s
D) 6.52 g i s 3
2

\\ P=15

34) Which of the following refers to 3 steef bar bolted to the C) Q
ends of two rails to join t

hem together in a track?

D) P= 4.75\/6
A) Dog Spike \
B) Screw Spike ——
C) Fish Plate 39) A revised
D) Rail Clip Prepared ji "
A 1
35) Aooording to IS:456-2000. inaR.C.c slab the diameter
of reinforcing bars shoylg NOT exceed

A) one half of the
B) one fourth of
C) one eighth of
' D) one Sixteenth

total thickness of the slab

he tota| thickness of the slab
the tota| thickness of the slap
of the total thickness of the slab

36) Whal is defi

ned as the rati
of solid

0 of weight of s
$in a given mags of so

il (in percente
A) Water content
B) Void ratio

L C) Specific gravity

D) Density

h concrete and higp, tensi "
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of a Cantilever Beam of length L wi?ln

the free end is given by

M 5
yy e
WV
oo YW

2 As per the theory of Simple bending, the value of the
e Modulus of elasticity is:

: in tension than in compression
i The same in tension and compression

Greater in compression than in tension
) Always equal to unity in tension alone

5) What is the dimensional formula for pressure gradient?

B S @ B
B) 4 e Q Q‘/ «-\IA‘*‘\S
MLT Qr//q‘ P e
D) ML™T™ % """; <
N

in chain surveying, for the lateral

5) What is the term used
dicular to the chain line?

distance measured perpen

A) Oblique offset
B) Perpendicular offset

C) Rear offset
D) Parallel offset

%

47) A 20 m steel tape was standardised at a temperature of
30°C under a pull of 5 kg. The tape was used in catenary to
fix a distance of 20 M between two points at 40°C under a
pull of 10 Kg. Young's modulus E=2.1x10* kg/cm?, Area =
0.001 cm?, W=0.423 g, coefﬁcientto{hthe:g::: %:;:::sl:og
e - [ o arrive at the clio|
g=11x107 /°C, Here - perature is caleulated

ive), the correction for Tem
B ) following formulas?

using which of the
5a ( T To )
A C= L

5 www _jkchrome.com
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@) What is the .slope of borders in border irrigati
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0 Ci= a(Tn—TolL
) C,= a(3Ty — To)L
48) What is the horizontal distance between two

successive contours called?

A) Contour interval

B) Horizontal equivalent
C) Contour gradient

D) Contour map

49) Identify the CORRECT relationship, between the
elasticconstants of a material.

L
a) E=2G(1+1m) | ¢ 2 R 1"
b) E= 3K (1-1/m) Y b

c) E= 2K(1-3/m)

where E= Young's Modulus, K= Bulk Modulus,G=Shear
Modulus, 1/m= Poisson's Ratio

A) aonly
B) c only
C)aandc
D)aandb

method?

A) 0.05-2%
B) 4-5%
C) 5-10%
D) 15-20%

I
o7

51) What will be the
curve is 70 m and
superelevation
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70
Y
i:z) ' 0”\] W "7 N RO
i ¥ wall - short wall ildi
S the all method of a buildin estimati
breadth of thp(\i?t'("r o center length of wal? g i lsa"t(;wr;
Qiven py, * Wall, then length of long wall (out to out) is
A) |
B) by §
) g ’ ’1;6»
C) 1+ 2d ~ :i'
D) 24
——— SR
£ R Ty
L_>3) Which

of the following satisfies the Laplace Equation?
A) Stream functi
B) Only Velocity i
C) Only Stream function

D) Neither Stream function nor Velocity Potential function
— g LR

_54_) Select the CORRECT relatio
Imgation requirement and field irri
ha = water application efficiency)

onship  between net
gation requirement. (Here

A) NIR=FIR /h, 9

B) NIR=FIR +h, @\?" w

C) NIR=FIR - h, <7 "o
D) NIR=h. x FIR s S

55) Which equation states that during a fluid flow,
“piezometric head + velocity head = constant’ along
streamline?

A) Bernoulli's equation
B) Continuity equation
C) Euler's equation
D) Laplace formula

56) What is the term used for the distance between two
rails in a railway track?

A) Track gauge w8
B) Track base N N
0Q , “X
C) Sleeper gauge -
D) Ballast width p

57) The relationship between curvature correction (Cc) ang
refraction correction (Cr) for levelling works is given as:

A) Cr=1/7 Cc

B) Cr=1/5Cc «
C) Cr=1/2 Cc oA

D) Cr=1/8 Cc

58) As per IRC, if V is the speed of the vehicle in km/hr an
R is the radius of the curve in meters, then the length of th.
transition curve for mountainous and steep terrains (hilly
track) (for a two lane highway) should not be less than

A) VAR n,
B) 9.81V2R \‘}
C) 3.6V3R o
D) V/IR?

@) Read the following statements and choose the
ORRECT option.

(i) The effective depth of a T-Beam is the distance between

the top of the flange and the centre of the tensile
reinforcement.

(iFor designing purposes, the overall depth of a simply

supported T-Beam is usually assumed as 1/12 to 1/15 of
the span.

A) (i) is TRUE and (ji) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (i) is TRUE
D) (i) is FALSE and (ii) is FALSE

60) Lead Time in matﬁfwljmw
company usually refers to the: management for a

A) Time required for ‘ :
client place only the dumping of material at the

B) Time taken to only order ‘
company certain materials in a
C) Time elapsed between ordering. !
the material into use "9, receiving and putting

D) Time taken to create a product in a company

6 www.jkchrome.com
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C) Uniform flow

and choose the
D) Non uniform flow

i wi statements
61) RE:;'- %onfd'vgutr:n?esmd to the velocity potential
function in the Kinematics of a fluid flow. R —
ists, the flow should be 66) In hydroslatics, when the fluid is at res et Ghors it
()] If the velocity pOlentlal ex relative motion between adjacent fluid layers e sobs -
Wd’ on. It gradient will be locity
velocity tential satisfies the Laplace qquat on, i
(ii) If the the pg:slble steady inoompressable irrotational A) Unity
flow. B) Maximum
C) Infinity
) ()is TRUE and (i is TRUE D) Zero
g) (i) is TRUE and (il is FALSE B i —— A N—
- G)SFALSEW('O?;Z‘_JSEE 67) |dentify the formula for Magchgaumber used in Fluid
D)@ FALSE &6 0 Mechanics.
| : A) V(Inertia force / Surface tension force) 4
icle whee What is the :
62) A vehicle hes © | base of O 0 B) V(inertia force / Elastic force)
, gpproxima —trackl mean radius of 20 m?
o oRHRERIREES ol C) V(Inertia force / Pressure force)
D) V(inertia force / Gravity force)
S

s

) Which of the followin:
preferred for cement concrete

- A) Straight line camber
* B) Parabolic camber
' ) Elliptic camber
D) Combination of straig

sually

% ‘ﬂ’m g
A) 0.5m v )
Ve

ht and parabolic

69) The strain energy stored by the body within elastic li
when loaded externally is called as:

A) Elastic Energy
B) Toughness
C) Resilience
D) Poison’s Ratio

70) Which of the followin

g refers to t
passing at som i
in A e given point in

A) Traffic flow

65) If the density of a fluld remains constant
volume, then it implies which M’::'M | B) Density
Ve
LR C) Traffic concentration
D) Speed flow

A) Compressible flow
B) Incompressible flow

. Page 9 of 16
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71) What i :
y2 " condition for stable equilibrium of a floating 76) The section modulus (Z) of a hollow circular section
(Where, M | with external diameter as D and internal diameter as d, is
'S meta-centre
centre of gravity) + B s centre of buoyancy and G is given by
NN
b ’
A) M lies above G o2
B) Miies below G 4
C) M and G coincide
D) B lies below G
B) Z =
72) The transverse members of the track
placed below the =
rails to support and fix them in position, are termed as C) Z
A) Sleepers
B) Ballast By L=
C) Wagon
D) Bolt
77) Which of the following is an event
73) The Moment of Inertia of a rectangular section having tool used in project management?
width b and depth d, about a line passing through the base / : ad 4
is NS A) PERT
xe N BycPM
A) bd®/ 24 & @ C) RAM
ROM
B) bd®/3 T el N, )
el 1 Vo wda bl |
o - W o Gitd 78) An earthen dam is constructed on unpeﬂﬂsoaeab:
- il 3 foundation, The coefficient of permeabﬁties_.ofw ' 3
: % / horizontal and vertical direction are t':.ZMOSMe i:10 2
If the principal tensile stresses in8 are 200 MPa level on the reservoir

of seepage per unit length in m¥s can be

" 50 MPa, what is the magnitu : shear . ber of flow channels is 4.
stress? ' Wiy i of the following formulas?

-

8 www._jkchrome.com www_jkchrome.com Scanned with CamScanner
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—————

find the relationship between degree of mixing and
! o of turbulence in coagulation process,

1 Degree of mixing is equal to degree of turbulence

) pegree of mixing is directly proportional to degree of
turbulence

pegree of mixing is inversely proportional to degree of
~ turbulence

) Degree of mixing is not proportional to degree of
turbulence

) A cross drainage work, where canal is taken over by
drainage if the bed level of imrigation canal is higher
n the drainage, is called as

A) Aqueduct
B) Aquifer

C) Aquifuge
D) Aquiclude

81) What is the relationship between void ratio (e) and
~ porosity (n)?

A) (1-n)=(1+e)
B) n/(1+e) =0
C) e=(n+1)/n v V74
D) e=n/(1-n) 2

82) If the moment of resistance obtained fro_m the
compressive force is equal to moment of resistance
obtained from the tensile force, then the R.C.C beam

section will be a2

A) Balanced Section

B) Prestressed Section

C) Under Reinforced Section
D) Over Reinforced Section

83) Find Te (in s), for an activity with To=4 s ,Tm=6 s and
Tp=12 S.

84) For a standard 13 m rail, a sleepe,

der
NSty o
/o Msq

would mean how many sleepers per rail lengi,
P
A) 9 "
B) 12
C) 13
D) 17

——

85) What is the width of broad gauge (in M) as per ingia,
railways?

A) 1575 mm
B) 1676 mm
C) 1366 mm
D) 1456 mm

86) What involves the intelligent utilization of floats which
can smoothen the demand of resources to the maximum

possible extent?

A) Resource allocation
B) Resource smoothing
C) Resource levelling

D) Resource aggregation

87) Which of the following options is NOT a
inspection galleries provided generally in a Dam

A) To drain the water seeping through the da

B) Provides space for drilling and grouting
foundation

C) Gives access to the interior part of
or maintainance purpose

D) Excess amount of water from the
disinfection here

88) A rectangular plane surface
in water is 2 m wide and 3 m
if the upper edge is horizontal
surface.

¢

A) 8.5 win ™ |
B; i < o"/\, 4‘*"\» A) 106.01 kN
C) 6.67 add W, B) 406.01 kN
D) 5.33 <, Ll C) 206.01 kN

: W D) 306.01 kN

J f/ y \

Page 11 of 16
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89) A neutral solution with pH \;a:,l: u:-e). equal to
hydrogen ion concentration (in mole!

A) 10
B) 107
C) 10+

D) 10¢ e —————

90) Which among the following is defined as the ratio of

plasticity index to flow index?

A) Toughness index
B) Shrinkage ratio
C) Shrinkage limit

D) Consistency Index

91) In construction management, the incrgase in the direct
cost to be spent on an activity in a day, is usually termed
as:

A) Cost slope
B) Direct cost
C) Indirect cost
D) Crash cost

92) The spacing of sleepers for a railway track is usually
calculated using which of the following formulas?

A) Spacing of Sleeper = (2 x Width of sleeper) + depth of
ballast)

B) Spacing of Sleeper = Width of sleeper / (2 x depth of
ballast) "

94) The dista
of floating bod

C) Spacing of Sleeper = Width of sleeper + (2 x depth of
ballast)

D) Spacing of Sleeper = Width of sleeper - (2 x depth of @ k.v\D();rogramme Evaluation and Revise Technique

& 40 ka“%k §e _w<

)y 6%

93) When an ind  footine
) e g : [ lmr;\odatesmOrmqre
b )p
%

‘91/

e between metacentre and centre of gravity
ne

y is called as

A) Metacentric height
B) Buoyancy

C) Centre of pressure
D) Buoyant height

95) What is generally done to remove pathogenic bacteria
in drinking water?

A) Sedimentation
B) Disinfection
C) Flocculation
D) Coagulation

96) Which among the following does NOT consume any

time/resources, in a network analysis of project
management?

A) Activity

B) Slack

C) Dummy activity

D) Concurrent operations

) PERT is a project management technique that is main
useful for tasks involving uncertainities. What is the f\:‘{l
form of PERT?

A) Project Evaluation and Review Technique
B) Programme Evaluation and Review Technique
C) Programme Elevation and Review Technique

98) Generally, in R.C.C sections for beams, the
the neutral axis usually determines the types‘of
an over reinforced section, the actual neutral axis

A) Along the top fibre of the section
B) Above the critical neutral axis 3
C) Below the critical neutral axis b
D) In the same line along the critical neutral axis

scanned with CamScanner www jkchrome.
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What is the amount ©
without affecting the subsequ

f time that a task can be delayed
ent tasks?

A) Part Float
B) Node Point
C) Free Float
D) Total float

e—————————

100) The net quantity of one bag of cement according {0

BIS standards i %
© &

A) 50 kg 4‘,0/’(’ G b

B) 40 kg q A ///%. 6

C) 30kg % v 0

D) 20 kg vV (7/? %/

101) For a given section, how does the section modulus
usually the strength of bending (stress)?

A) If section modulus is small, then stress will be more
B) Section modulus is independent of stress

C) Section modulus is inversely proportional to stress
D) Section modulus is always Zero for any given section

102) There are few sight distances considered in the

geometric design of pavements for safe es o
avoid any aoddzents In this regards, the eq:.uyati%unrpos
v
v+ =
2gf
refers to which of the following options?

TLEN i\

Given Data: v is the design speed in m / sec?
reaction time in sec, g is the accelera , Lis the
{1 the coefficient of friction.) tion due to gravity and

(Symbols and notations carry their usual meaning)

A) Intermediate Sight Distance §
B) Overtaking Sight Distance "y p
C) Stopping Sight Distance -
D) Head light Sight Distance }

www._jkchrome.com
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103) The tension or flexure cracks i

develop in which of the following ways’

A) In circular patterns

B) In a vertical direction

C)In a horizontal straight line for half the length of
beam '

horizontal straight line and then

D) Initially in 2
top of the beam

inclined towards the

104) What is the ratio of longer dimenision ta shorter

dimension in a one way slab?

A) equal or greater than 2
B) equalto 1

C) less than 2

D) less than 1.5

105) As per 1S:456-2000, the side
should be provided along the two fi

A) 350 mm
B) 550 mm
C) 650 mm
D) 750 mm

106) What is the ap,
concrete? (given : O
concrete in bendi
method of IS 456:

A) 3.9
B) 9.33
C) 5.22
D) 6.1

Scanned with CamScanner
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70 C
108 T
he A !
a .2 Sum . i F
isntd thirg 15 C:: the hammer blows required for the second 111) The location of neutral axis of a T-beam, will fall in
3ken ag OF penetration in standard penetration test which of the following categories?
) Seati
B) Sz:t'ng Penetration (a)Within the flange,
C) ov;:)ergdence (b) Outside the flange ,
Uy
enetr o PreSSURSIE) (c ) Always atthe centre of the web of beam
ation resistance (N)
A) Only a
\\
— B) Only b
109) The ragi _ C) Bothaand b
speed of (v) l:lgoo': the horizontal curve (R), for a design D) Onlyc
(SUperelevat'On) Tph With the maximum values of
1S, can o, —ca?ég:atagd s TR0 ricton) fie
ollowing equations? ed using which of the
o 112) The distance between the front bumper of leading
vehicle and the front bumper of the following vehicle, is
3 known as
Vv
A e
e+ f Vg A) Spacing
137R B) Traffic density
C) Sight distance
v2 D) Traffic volume
Y S
113) What is the valy
e of the rati )
V2 shear stress to average shear suegtgr?mmaa; o
on?
e+ f=—- A) 4/3
12R B) 1/8
C)23
v3 D) 5/5
127 R
114) Which amon 4 -
: the following, i
of activiti 9 owing, is the
entire pre 113t must be finished on time 1o, SeQuence
o & LG ject to be complete? T a'f’?" for the
hich ation . v I
cultivable oommr:?\d ‘mp;;)]ects should usually haye A) Dummy Path :
which 2000 ha utilises g, more than 10,000 ha out of B) Event 3
ace water resources? C) Critica) p
A) Major D) Non cuu:: P
B) Medium ath
C) Minor B
D) Ground 115) ‘;Vhlch e
orchard trees;“ethw of imigation is usually syitapje
for
B) Sprinkjer
C) Basip
D) Furrow
~Page 14 of 16 e —
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—

um daily water dem ———

1 B) What is the maxim \\

nnual average daily demand? and Where ‘' is 120) In N
R ndian Railw:,ye the
b N 3 3 standar,
\ 120Q recommended for Meter Gau%g”:,‘r( JJ):le length o -
3) 3.2 Q A)12m
?;&;80 B) 22 m
C)32m
) 139 ‘ D) 42 m

} ) Select the CORRECT symbol used in soil mechanics
s per standard codal procedures for well graded soil.
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